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Multiplicera med tio befogenheter (antal saknas)

namn:

8, 644 X

2,236 %

5,915 x

2,984 %

1,615 %

7,926 x

2,451 x

5,307 x

2,443 x

4,489 x

= 86.44

= 2236

= 5915

=29.84

= 1615

= 7926

= 2451

=530.7

— 2443

— 4489

Datum:
8, 006 x = 800.6
8,329 x =832.9
3,948 x =3948
2,635 x =26.35
3,126 % =312.6
4,829 x = 4829
7,317 % =731.7
10, 817 x = 10817
4,184 x =41.84
9, 155 % = 9155
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Poéng:
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o B @ fo—o o==0 Multiplicera med tio befogenheter (antal saknas)

namn: Datum: Poing;

8,644 x 10 = 86.44 8,006 x 100 = 800.6
2,236 x 1000 = 2236 8,329 x 100 = 832.9
5,915 x 1000 = 5915 3,948 x 10 = 39.48
2,984 x 10 = 29.84 2,635 % 10 = 26.35
1,615 x 1000 = 1615 3,126 x 100 = 312.6
7,926 x 1000 = 7926 4,829 x 1000 = 4829
2,451 x 1000 = 2451 7,317 x 100 = 731.7
5,307 x 100 = 530.7 10, 817 x 1000 = 10817
2,443 x 10 = 24.43 4,184 x 10 = 41.84
4,489 x 1000 = 4489 9,155 x 1000 = 9155
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